Exercise 2.6

41.

Population of Children The following table gives the estimate population (in millions) of U.S. boys age 5 and under and the estimate U.S. population (in millions) of girls age 5 and under in selected years.

	Year
	1995
	2000
	2005
	2010

	Boys
	10.02
	9.71
	9.79
	10.24

	Girls
	9.57
	9.27
	9.43
	9.77


A function that models the population (in millions) of U.S. boys age 5 and under t years after 1990 is B(t) =0.0076t²-0.1752t+10.705, and a function that model the population (in millions) of U.S. girls age 5 and under t years after 1990 is G(t) =0.0064t² - 0.1448t+10.12.

a. Find the equation of a function that models the estimate U.S population (in millions) of children age 5 and under t years after 1990.

b. Use the result of part (a) to estimate the U.S population of children age 5 and under in 2003.

Exercise 2.7

51.

Education If the function f(x) gives the number of female PhDs produced by American universities x years after 1990 and the function g(x) gives the number of male PhDs produced by American universities x years after 1990, what function gives the total number of PhDs produced by American universities x years after 1990?

45.

Projectiles Two projectiles are fired into the air over a lake, with the height of the first projectile given by y=100+130t-16t² and the height of the second projectile given by 

y=-16t²+180t, where y is in feet and t is in seconds. Over what time interval, before the lower one hits the lake, is the second projectile above the first?

